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1. An animal is “healthy” if it is…

a. Completely free of disease

b. Completely free from other organisms

c. Has measures of health that fall within the normal range

d. Showing no differences in appearance

2. Disease is a condition in which the animal….

a. Shows physiological, anatomical, or chemical changes that are outside the normal range for that species.
b. Has another living organism or virus inside of its body

c. Is exposed to a pathogen

d. Will die unless it gets medical attention

3. An infectious disease is one that…

a. Is transmitted by another animal of the same species

b. Cause by a pathogen that gains entrance into the body
c. Is caused by environmental factors or has a genetic basis

d. Causes symptoms in the host

4. A noninfectious disease is one that…

a. Is transmitted by another animal of the same species

b. Cause by a pathogen that gains entrance into the body
c. Is caused by environmental factors or has a genetic basis

d. Causes symptoms in the host

5. A pathogen is…

a. The organism affected by the disease

b. The organism that causes a disease

c. The organism that transmits the disease

d. The physical conditions in which the disease occurs

6. A host is…

a. The organism affected by the disease

b. The organism that causes a disease

c. The organism that transmits the disease

d. The physical conditions in which the disease occurs

7. A vector is…

a. The organism affected by the disease

b. The organism that causes a disease

c. The organism that transmits the disease

d. The physical conditions in which the disease occurs

8. What is virulence?

a. The kind of pathogen that causes the disease

b. The kind of host that gets the disease

c. The ability of the pathogen to overcome the host’s defenses to cause a disease

d. The vaccination needed to fight a disease

9. The environment is….

a. The organism affected by the disease

b. The organism that causes a disease

c. The organism that transmits the disease

d. The physical conditions in which the disease occurs

10. If a disease is contagious, this means that it…

a. Cause by a pathogen that gains entrance into the body
b. Is caused by environmental factors or has a genetic basis

c. Is incurable

d. Can be transmitted from one individual to another

11. Which of the following is FALSE

a. Most species have a protective defense against microbes that includes skin, hair, feathers, mucus, etc.

b. Most pathogens will cause a disease regardless of the kind of tissue in which they gain entrance

c. Virulence is the measure of how effectively a pathogen can overcome the host’s defenses

d. If a pathogen is not present in an environment, a disease cannot occur

12. ___________ is genetically based and can be passed from generation to generation.  __________ is only obtained by having the disease or by getting a vaccination.

a. Immunity; Resistance
b.  Resistance; Immunity      c.  Natural immunity;  Artificial Immunity 

13. ________ immunity is caused by the immune system’s response to an infection; _______ immunity is caused by a vaccination

a. Natural; Artificial   b.  Artificial; Natural    c.  Active; Passive   d.  Passive; Active

14. Which of the following is the best example of passive immunity?

a. A vaccination   b.  White blood cells   c.  Antibody-rich Colostrum   d.  An antigen

15. An ________ caused the disease while an ________ was produced by the body to fight the disease

a. Antibody; Antigen   b.  Antigen; Antibody   c.  Vector; Pathogen   d.  Pathogen; Vector

16. This refers to when the resistant majority shields the unresistant minority from infection
a. Herd Immunity   b.  Indirect Immunity    c.  Herd Resistance   d.  Acquired Immunity 

17. This refers to when a group has multiple methods of deterring disease (hygiene, immunity, nutrition, etc.).
a. Herd Immunity   b.  Indirect Immunity    c.  Herd Resistance   d.  Acquired Immunity 

18. This is what detects and fights a cause of disease in the blood.

a. Antibody    b.  Antigen   c.  Immune Response   d.  Pathogen

19. This is a part of the infecting organism that causes the body to respond.

a. Antibody    b.  Antigen   c.  Immune Response   d.  Pathogen

20. Why is a virus not classified as a living species?

a. It cannot reproduce on its own

b. It does not metabolize food for energy

c. They cannot live without other species

d. All of the above

21. To reproduce, a virus must…

a. Inject its RNA into another cell, take over that cell, and use it to make more viruses 

b. Inject its DNA into a cell and turn that cell into a virus

c. Raise the temperature of the body of a host so that it can reproduce on its own

22. Bacteria are classified as ________ organisms.

a. Eukaryotic     b.  Prokaryotic     c.  Viral     d.  Non-living

23. In order to determine the type of bacteria and classify them, we must _________ them. 

a. Dissect    b.   Enlarge     c.  Stain     d.  Destroy

24. Bacteria have _________________ DNA and extra sets of genes called ____________________.

a. X-shaped; plasmids   b.  Circular; plasmids   c.  X-shaped; auxiliary genes   d.  Circular; auxiliary genes


25. A Gram-Positive bacteria will stain ________ while a Gram-Negative Bacteria will stain ________.

a. Violet; Red    b.  Red; Violet    c.  Yellow; Red    d.  Red; Yellow

26. A Gram-Positive bacteria is _______ to antibiotics.  Gram-Negative bacteria are _______ to antibiotics. 

a. Susceptible; Unsusceptible   b.  Unsusceptible; Susceptible    c.  Unsusceptible; Unsusceptible

27. What determines both what color a bacterium will stain and whether it will be susceptible to antibiotics?

a. Whether or not they are a living species

b. Whether or not they have a nucleus

c. Whether or not they have circular DNA

d. Whether or not they have a 3rd membrane

28. Endotoxins are most likely to be found in….

a. Gram-positive bacteria     b.  Gram-negative bacteria     c.  Viruses     d.  None of the above.

29. An exotoxin usually affects the body when it…

a. Is still inside the bacteria    b.  Is released from the bacteria    c.  Is neutralized by the host

30. A toxoid is a/an…

a. Inactivated toxin    b.  Contagious toxin    c.  Non-living toxin    d.  Biological toxin

31. The most common endotoxin found in bacteria is…

a. A toxoid    b.  Bacteremia   c.  Lipid A   d.  Gram stain


32. Septic shock is the _________ common cause of death in US intensive care units

a. Most    b.  2nd most     c.  5th most     d.  13th most


33. Bacteremia is….

a. The presences of bacteria in the bloodstream

b. The high of enough presence of bacteria in the body to cause an immune reaction

c. An over-aggressive response by the body to an infection that causes hypoxia and hypotension (and possibly death)

d. The process in which blood vessels dialate and tissue becomes red and swollen.

34. The inflammatory response is.   

a. The presences of bacteria in the bloodstream

b. The high of enough presence of bacteria in the body to cause an immune reaction

c. An over-aggressive response by the body to an infection that causes hypoxia and hypotension (and possibly death)

d. The process in which blood vessels dialate and tissue becomes red and swollen.

35. Septic shock is…

a. The presences of bacteria in the bloodstream

b. The high of enough presence of bacteria in the body to cause an immune reaction

c. An over-aggressive response by the body to an infection that causes hypoxia and hypotension (and possibly death)

d. The process in which blood vessels dialate and tissue becomes red and swollen.

36. Sepsis is….

a. The presences of bacteria in the bloodstream

b. The high of enough presence of bacteria in the body to cause an immune reaction

c. An over-aggressive response by the body to an infection that causes hypoxia and hypotension (and possibly death)

d. The process in which blood vessels dialate and tissue becomes red and swollen.

37. Why does septic shock usually result in death?

a. The bacteria attack cells, turning them into bacteria-producing factories

b. The bacterial toxins shut down organ systems

c. The body uses localized defense mechanisms at a systemic level, causing blood pressure to drop, lungs to fail, and organ systems to shut down

d. The body becomes incapable of functioning once bacteria enter the bloodstream. 

38. ______________ are released during injury and infection and cause inflammation in blood vessels. 

a. Gram stain    b.  Plasmids   c. Antibodies   d.  Histamines 

39. Septic shock is most often caused by…

a. Gram positive bacteria   b.  Gram negative bacteria   c.  Viruses   d.  Mr. Kohn

40. Off-label usage of a pharmaceutical would best be described as…

a. Directions prescribed by a medical professional that differ from the drug’s original instructions

b. Use of a pharmaceutical in a way not intended by the manufacturer or a medical professional

c. Use of a drug as intended by its label 


41. Extra-label usage of a pharmaceutical would best be described as…

a. Directions prescribed by a medical professional that differ from the drug’s original instructions

b. Use of a pharmaceutical in a way not intended by the manufacturer or a medical professional

c. Use of a drug as intended by its label 


42. Drug resistance is…

a. A willing intent not to use an antibiotic in order maintain its effectiveness in the long run

b. A movement to avoid all use of pharmaceuticals in order to meet organic standards

c. When a pharmaceutical becomes ineffective against its intended pathogen due to overuse, abuse, or inappropriate use

d. When a bacteria becomes effective in fighting a disease


43. Chromosomal Resistance can be best described as…

a. A transferable form of antibiotic resistance acquired from another bacterium 

b. A form of resistance that is unrelated to antibiotics

c. A form of antibiotic resistance caused by a random mutation within the primary DNA chromosome

d. A form of resistance in which DNA cannot be replicated 


44. The form of plasmid resistance in which a virus transfers the gene for resistance is known as…

a.  Transformation    b.   transduction     c.   conjugation    d.   transposon insertion 

45. The form of plasmid resistance in which a gene literally “jumps” out of the genome is known as…

a. Transformation    b.   transduction     c.   conjugation    d.   transposon insertion 

46. The form of plasmid resistance that involves the formation of and exchange of genetic material over a sex pilus is known as…

a. Transformation    b.   transduction     c.   conjugation    d.   transposon insertion 

47. The form of plasmid resistance in which bacteria absorb genes remaining from a lysed bacteria would be…

a. Transformation    b.   transduction     c.   conjugation    d.   transposon insertion 

48. The mechanism of antibiotic resistance that would include the 3rd membrane of gram negative bacteria would be…

a. Decreased Permeability    b.  Efflux Pumps    c.  Deactivating Enzymes    d.  Altered Target Site


49. The mechanism of antibiotic resistance in which a non-critical portion of the bacterial cell binds the antibiotic would be..

a. Decreased Permeability    b.  Efflux Pumps    c.  Deactivating Enzymes    d.  Altered Target Site


50. The mechanism of antibiotic resistance in which the antibiotic is literally broken up is caused by…

a. Decreased Permeability    b.  Efflux Pumps    c.  Deactivating Enzymes    d.  Altered Target Site


51. The mechanism of antibiotic resistance in which the drug is forcibly removed from the inside of the bacteria would be…

a. Decreased Permeability    b.  Efflux Pumps    c.  Deactivating Enzymes    d.  Altered Target Site


52. Which of the following is a possible cause of antibiotic resistance?

a. Under-exposure to antibiotics during treatment

b. Lack of hygiene in clinical or animal environments

c. Off-label use of an antibiotic

d. All of the above are possible causes of antibiotic resistance


53. The original source of antibiotics is…

a. Bacteria    b.  Mold    c.  Animal antibodies    d. Plants


54. Penicillin and ampicillin work by…

a. Breaching bacterial cell walls

b. Interrupting protein synthesis

c. Disrupting the metabolism of a key nutrient

d. Blocking the transcription and translation of DNA


55. How can the use of steroids be used during the treatment of a bacterial infection?

a. Steroids are a natural source of bodily antibiotics

b. Steroids improve the function of the immune system

c. Steroids slow the growth and reproduction of bacteria

d. Steroids reduce inflammation, reducing the likelihood of septic shock


56. Why is the use of steroids a complex task that should only be performed under the careful watch of a medical professional?

a. It is very easy for a patient to overdose on steroids

b. Steroids can compromise the function of the immune system

c. Steroids can backfire, making the bacteria stronger

d. Steroids are not naturally found in the body; it may react negatively 


57. Should an antibiotic be prescribed for a viral infection?

a. Yes – it will speed up the recovery for the animal

b. Yes – an animal’s immune system cannot recognize a virus and will not respond to it

c. No – antibiotics are completely ineffective against viruses because they are not alive

d. No – antibiotics should never be prescribed in order to prevent antibiotic resistance.


58. An animal has contracted a disease.  Which would be more appropriate – a pharmaceutical or a biological drug?

a. A pharmaceutical drug – biological are not effective for disease treatment or prevention.

b. A pharmaceutical drug – a biological can prevent a disease but not treat it once it occurs

c. A biological drug – pharmaceuticals are not effective for disease treatment or prevention.

d. A biological drug – a pharmaceutical can prevent a disease but not treat it once it occurs

59. Vaccines are …

a. Pharmaceuticals    b.  Biologicals     c.  Can be both pharmaceuticals or biologicals   d.  Neither 

60. Which is the most effective form of health management in livestock? 

a. Pharmaceuticals    b.  Biologicals 

61. Who is credited with creating the first vaccine?

a. Stephen Babcock    b.  James Watson    c.  Robert Koch    d.  Edward Jenner 

62. How was the first vaccine created?

a. A scientist sneezed into a petri dish and realized that something in his mucus killed bacteria on the dish

b. A doctor accidentally tainted cough medicine with mold, which became the first vaccine

c. A volunteer was voluntarily infected with cow pox; he later became immune to small pox because of this

d. A doctor noticed that those who lived around sick people all the time never got sick themselves 

63. Which of the following would NOT inactivate a vaccine?

a. Sunlight    b.  An adjuvant     c.  Mixing with another vaccine     d.  Temperature fluctuations

64. What happens if the strength of our vaccine is too weak?

a. The patient will acquire the disease

b. The patient will not acquire immunity

c. The patient will acquire immunity for a different disease

d. The patient will acquire immunity as needed – vaccines need to be weak

65. What kind of vaccine is made from a less-virulent strain of a pathogen?

a. Live    b.  Killed    c.  Modified Live    d.  All of the above

66. What kind of vaccine is produced in a way to reduce the pathogen’s virulence 

a. Live    b.  Killed    c.  Modified Live    d.  All of the above

67. What kind of vaccine is most likely to require a booster and needs active antigens even if the pathogen is destroyed?

a. Live    b.  Killed    c.  Modified Live    d.  All of the above

68. What kind of vaccine has an expiration date?

a. Live    b.  Killed    c.  Modified Live    d.  All of the above


69. Why is an antiserum or an antitoxin not considered a true vaccine?

a. It does not create active immunity

b. It does not create passive immunity

c. It does not create any kind of immunity 

d. It does not come from a living source

70. An adjuvant is a substance that always…

a. Inactivates a vaccine

b. Prolongs the life of a vaccine

c. Increases the effectiveness of a vaccine

d. Protects the body from the vaccine 
71. During the Immune Primary Response…

a. Y-shaped antibodies bind to a pathogenic antigen while memory cells are produced 

b. The pathogen grows inside the body until it reaches a high enough level to cause an immune response 

c. B- and T-lymphocyte cells patrol the body and destroy the pathogen on site.  

d. Passive immunity is acquired via a blood transfusion or from colostrum consumption 

72. During the Immune Secondary Response…

a. Y-shaped antibodies bind to a pathogenic antigen while memory cells are produced 

b. The pathogen grows inside the body until it reaches a high enough level to cause an immune response 

c. B- and T-lymphocyte cells patrol the body and destroy the pathogen on site.  

d. Passive immunity is acquired via a blood transfusion or from colostrum consumption 

73. To withdraw the needed amount of fluid into a syringe without mixing air into the fluid, you must first…

a. Inject the same amount of air into the bottle of fluid

b. Sterilize the injection site

c. Push the plunger all the way in to remove all air from the syringe 

d. Keep the bevel of the needle halfway out of the rubber stopper while removing the medicine 

74. Immediately after injecting medication into a patient, you should…

a. Congratulate them on their bravery

b. Clip or shave the injection site

c. Disinfect the injection site

d. Hold your finger over the injection site to prevent leakage of the medicine 

75. An intradermal injection would require you to inject medication…

a. Into the muscle   b.  Beneath the skin    c.  Into a vein    d.  Between layers of the skin. 


76. An intravenous injection would require you to inject medication…

a. Into the muscle   b.  Beneath the skin    c.  Into a vein    d.  Between layers of the skin. 


77. A subcutaneous injection would require you to inject medication…

a. Into the muscle   b.  Beneath the skin    c.  Into a vein    d.  Between layers of the skin.


78. This is TRUE about physical exams.

a. You should always get the same symptoms and measurements for each animal if they are healthy. 

b. Physical exams should always follow a consistent routine and the same order of steps.

c. You should stop after finding a suspicious symptom and immediately treat it. 

d. All of the above. 

e. None of the above. 


79. The first thing you should do in a physical exam is…

a. Check the head.

b. Check the ears.

c. Speak with the owner. 

d. Check the manure. 


80. Which symptom in the ears would result in the greatest reason for concern? 

a. Warm ears    b.  Cold Ears    c.  Drooping ears    d. Alert Ears


81. Sunken eyes are a sign of…

a. Depression    b.  High blood pressure   c.  Dehydration    d. Low blood pressure. 


82. When checking this nose, 

 mucus is a bad sign.

a. Any    b.  Clear    c.  Bloddy/Solid-colored   d.  Clean   


83. This should be checked when inspecting a cow’s mouth.

a. Chewing cud.    b.  Grinding noises.   c. Compulsive licking or chewing.   d. All of the above.


84. Chewing cud is a sign that…

a. The cow is in pain.

b. The cow is happy and content. 

c. The cow has an emotional or nervous problem. 

d. All of the above. 

e. None of the above. 


85. Teeth-grinding a sign that…

a. The cow is in pain.

b. The cow is happy and content. 

c. The cow has an emotional or nervous problem. 

d. All of the above. 

e. None of the above. 


86. Capillary Refill Time is a test of…

a. Circulation   b.  Dehydration   c.  Hardware Disease    d. Immune System/Infection


87. A swollen jaw is a sign of poor …

a. Circulation   b.  Dehydration   c.  Hardware Disease    d. Immune System/Infection


88. Feeling the lymph nodes checks for …

a. Circulation   b.  Dehydration   c.  Hardware Disease    d. Immune System Function/Infection


89. The pinch test is a test of…

a. Circulation   b.  Dehydration   c.  Hardware Disease    d. Immune System/Infection


90. If a cow is dehydrated…

a. Her eyes will be bulging. 

b. Her lymph nodes will not be detectable by touch. 

c. Her CRT will be fast. 

d. Her skin will not snap back immediately when pinched. 

e. All of the above. 


91. This is a sign of hypocalcemia.

a. Sunken Eyes   b.  Swollen Jaw    c.  Nasal Discharge    d. Chewing Cud.   e. Cold Ears

92. This is a sign of dehydration. 

a. Sunken Eyes   b.  Swollen Jaw    c.  Nasal Discharge    d. Chewing Cud.   e. Cold Ears

93. This is a sign that the cow is happy and content. 

a. Sunken Eyes   b.  Swollen Jaw    c.  Nasal Discharge    d. Chewing Cud.   e. Cold Ears

94. This is the appropriate heart rate for a cow. 

a. 0-10 bpm   b.  10-40 bpm   c.  60-80 bpm   d.  80-140 bpm

95. This is the appropriate respiration rate for a cow. 

a. 0-10 bpm   b.  10-40 bpm   c.  60-80 bpm   d.  80-140 bpm

96. A cow has a whistle sound when her heart beats.  This would be called…

a. Dyspnea   b.  Displaced Abomasum   c.  Rumen Contraction  d.  Murmur   

97. A cow makes a “ping” noise (heard with a stethoscope) when you flick her stomach.  She has…

a. Dyspnea   b.  Displaced Abomasum   c.  Rumen Contraction  d.  Murmur   

98. A cow that has obstructed breathing has…

a. Dyspnea   b.  Displaced Abomasum   c.  Rumen Contraction  d.  Murmur   

99. A cow that is digesting normal will create audible ____ 1-2 times per minute. 

a. Dyspnea   b.  Displaced Abomasum   c.  Rumen Contraction  d.  Murmur   

100. This is a “twisted stomach”. 

a. Dyspnea   b.  Displaced Abomasum   c.  Rumen Contraction  d.  Murmur   

101. Which of the following is a sign of mastitis or infection in the udder? 

a. Coolness   b.  Redness/Hotness   c.  Bleeding   d.  All of the above   e. None of the above

102. This would be a healthy temperature for a cow. 

a. 90o   b.  98.6o   c.  100 o   d.  101.5o  e.  103-104o

103. This would be a temperature for a cow that indicates an infection or disease. 

a. 90o   b.  98.6o   c.  100 o   d.  101.5o  e.  103-104o

104. Ketones are…

a. By-products of breaking down bodily fat for energy. 

b. A sign that a cow has ketosis, or is breaking down body fat too quickly. 

c. A possible sign of a displaced abomasum. 

d. All of the above. 

e. None of the above. 


105. This symptom in manure would be a sign of Johnnes disease.

a. Blake or red streaks.

b. Too stiff.

c. Frosting-like consistency.

d. Green & Watery. 


106. We would need to check for these on the right side of the cow. 

a. Right displaced abomasum 

b. Digestive obstruction 

c. Withers pinch 

d. All of the above.

e. None of the above. 

107. A withers pinch is necessary to check for this.

a. Hardware disease.

b. A dorsiflex.

c. Internal pain, or other digestive problems.

d. All of the above.

e. None of the above.
108. Robert Koch is considered the founder of …

a. Biology    b.  Bacteriology    c.  Virology   d.  Scientology 

109. Koch used ___________ as his laboratory (demonstrating that the best scientists can work even in sparse conditions).

a. The local university   b.  The local hospital   c.  His mansion   d.  His 4-room home

110. Koch hypothesized that ____________ was/were the cause of the anthrax disease.

a. Mastitis   b.  Antibiotics   c.  anthrax bacillus   d.  Mice 

111. How did Koch prove that this organism was the cause of the anthrax disease?

a. Koch infected healthy animals with every disease he could find.  When an animal died, he knew that one of the infectants was the cause 

b. Koch surveyed people in the area to determine what the symptoms were like

c. Koch saw the pathogen causing the disease under a microscope 

d. Koch infected healthy animals with isolated strains taken from dead animals. 

112. Which of the following did Koch invent?

a. The Petri dish   b.  Potato nutrient medium   c.  Antibiotics    d.  Vaccines   e.  All of the above

113. Which of the following is NOT considered one of Koch’s Postulates?

a. Microorganisms are isolated from dead animals

b. Microorganisms are grown in pure culture 

c. Microorganisms are injected into healthy animals

d. Microorganisms are seen causing the disease under a microscope

e. Disease is reproduced in second animal

114. In which of the following cases would we NOT want to use Koch’s postulates?

a. For a viral disease

b. For a disease caused by multiple organisms

c. For a very deadly disease

d. All of the above


115. Why are Koch’s Postulates important?

a. He was among the first in medicine to require rigorous testing to confirm the cause of a disease

b. He was the first to state that bacteria cause disease

c. He was the first to recognize that bacteria exist

d. All of the above

116. This is the kind of disease the comes on rapidly and tends to be more severe

a. Chronic    b.  Acute   c.  Latent   d.  Subacute 

117. This is the kind of disease that has no symptoms because the causative agent is inactive.

a. Chronic    b.  Acute   c.  Latent   d.  Subacute

118. This is the kind of disease that develops slowly and tends to be less severe.

a. Chronic    b.  Acute   c.  Latent   d.  Subacute

119. This is the kind of disease that has symptoms that are a mix between an acute and a chronic disease

a. Chronic    b.  Acute   c.  Latent   d.  Subacute

120. In this kind of disease, the pathogen does not cause visible symptoms. 

a. Clinical   b.  Subclinical 

121. This kind of disease could only be confirmed with a diagnostic test (such as culturing the bacteria on a plate).

a. Clinical   b.  Subclinical
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